1 2 3 4
P5 P6
/‘o_ 1 A1 Al 1[g @l2 A2
o 20 A2 A3 3 o o 4 A4
o 2 A3 Bl 5 ® o 6 B2
o 21 Ad B3 7 o o 8 B4
1] 3 Bl Cl 9 10 C2
%] o+ ® ©
o 22 B2 C3 11 o o 12 C4
o 4 B3 D1 13 ® o 14 D2
ROl ) 0 23__B4 D3 55| g @l 16 D4
f P1 o 5) Cl ABCD5 17 o o 18  ABCD6
+C1 1 24 C2 P12 19 o o 20 GND
220u 5 +12V & ol 6 _c3 NI2 2l g gl 22 GND
0 25 C4 VCC 23 o o 24 GND
| 7 D1 VCC 25 26 _GND
GND} . O ® ©
O 26 D2
N12| . o 8 D3 1761609-9
I P2 O 27 D4 P7
1 o 9 ABCD5 E1l 1 o o 2 E2
C2 - 28 ABCD6 E3 3 4 E4
+1_220u l_ 2 12V O o] 10 _EL FL 5 : : 5 F2
&Nl o 29 E2 F3 7 o o 8 F4
f - o 11  E3 Gl 9 o o 10 G2
o 30 E4 G3 11 o o 12 G4
P3 o 12 F1 H1l 13 ® o 14  H2
vee 1 31 F2 H3 15 o o 16  H4
S | 5 VCC © ol B/ EFGH5 17 | g o] 18 EFGH6
o 32 F4 P12 19 o o 20 GND
o 14 Gl N12 21 o o 22 GND
P4 33 G2 VCC 23 24 GND
vee P SN IR VCC %5 | g o] 2% GND
34 G4
2 LED O o] 16 w1 17616009
o 35  H2
R1 o 17 H3
0 o 36 H4
o 18 EFGH5
o 37 EFGH6
o~ 19 GND
—~\DQL —]
oK |<_>FDV301N DB37F
H S
1 Power
H1 #4 screw, 3/8" ND H7 #4 screw, 3/8" ConcentratorSerial2.SchDoc
H2 #4 screw, 3/8" H8 #4 screw, 3/8" oK [ ) OK
McMaster-Carr
90272A108 Bl B2
H3 #4 lock washer H9 #4 lock washer
[9V) — [9V) ~—
H4 #4 lock washer Bracket H10  #4 lock washer Bracket
e St 2 s
H5 #4 nut R2 C3 H11l #4 nut
NL 100n Title
Ho #4 nut H12 #4 nut Controls Concentrator RF Amp
McMaster-Carr GND Size Number Revision
90480A005 A D1100633
Date: 4/11/2011 [ Sheet 1of 3
File: C:\Users\..\ConcentratorSerial 1.SchDoc | Drawn By: Daniel Sigg
1 2 3 ‘ 4




1 2 ‘ 3 4
AA
RS GND TP1 TP6
L2k Dps2 ' PI7 UL T
1 10N our 3 —+—{VCC
4 TAB GND —2
——C4 —=C7 LECO 7805 *+cu
sS4 P8 D2 100n 10u 220u 220u
1
C T
17V 2 | P17
e} ¢ |GND
o123 ‘ e
1 . R14
DsubPower A —C5 —=C8 ;:gzlc?u TP4  TPS C13 10K
100n 10u GND 02 -
R8 R10 P9
P7—T 100n LTC2919 10K
{N17 M 33.2K 10 vee 5
ADJ1  RST OK >
R4 Q R9 R11 7 3
GND T2 N17T—__1— '\ REF OUT1 ——< R17
12K ¢ M 30.9K 0 .
DS1 ADJ2 OUT2 ¢ 2
<L lseL TMR FB
GND
[{e]
GND
& ¢
D1 TP3 D4 TP8
Q2 Q3 T
N17| SN out 2 INL2 P17} 4N out > > |p12
2 | 1 | 2 1 |
GND|——=%={ ON/OFF ADJ GND|—¢—=> ON/OFF ADJ |—
6 4 ——C6 R5 R7 6 3 ——C12[ |Rr12 R15
TAB  GND 10n| lgask 200K el 10n | |g.45K 2.00K
LM2991S GND R6 LM2941S GND R13
s GND 4 GND
T.00K 1.00K
TP7
Undervoltage monitors:
OK low indicates a supply fault.
Positve: VTrip = (R3/R7 +1) /2
Negative: VTrip=(1- R4/R8) / 2
Title
P17: VTrip = +15.6V Controls Concentrator RF Amp
N17: VTrip =-15.7V Size Number Revision
A D1100633
Date: 4/11/2011 [ Sheet 20f 3
File: C:\Users\..\ConcentratorSerial2.SchDoc | Drawn By: Daniel Sigg
1 2 3 ‘ 4




